
https://www.geekcert.com/hp0-j63.html
2024 Latest geekcert HP0-J63 PDF and VCE dumps Download

 

 

 

HP0-J63Q&As

Designing HP Backup Solutions

Pass HP HP0-J63 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/hp0-j63.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

 

 

HP0-J63 Practice Test | HP0-J63 Study Guide | HP0-J63 Exam Questions                                1 / 3

https://www.geekcert.com/hp0-j63.html
https://www.geekcert.com/hp0-j63.html
https://www.geekcert.com/hp0-j63.html


https://www.geekcert.com/hp0-j63.html
2024 Latest geekcert HP0-J63 PDF and VCE dumps Download

QUESTION 1

A small business plans to use an HP Enterprise Backup Solution with an HP StoreSure 2000FC storage system and a
shared tape library for backups. What will the hosts use to access the storage system and the tape library? 

A. converged network adapter (CNA) 

B. network interface controller (NIC) 

C. host bus adapter (HBA) 

D. Serial-attached SCSI (SAS) 

Correct Answer: C 

 

 

QUESTION 2

Why is a disk-to-disk-to-tape (D2D2T) backup environment normally used? 

A. to synchronize online backups of databases and to automatically overwrite transaction logs 

B. to stage backup data to a host-managed, low-cost disk and to facilitate quick restores 

C. to enable backups and restores of virtual machines without disrupting virtual applications, and to maximize snapshot
performance 

D. to create virtual backups of ESX servers and to enable snapshot restores 

Correct Answer: B 

 

 

QUESTION 3

A customer\\'s network has several servers that are connected to a single fabric. The network also has tape devices that
are connected to different fabric. The customer wants to connect the servers to the tape devices without merging the
two fabrics. 

Which SAN device will allow the customer to archive this goal? 

A. multi-protocol router 

B. network storage router 

C. iSCSI gateway 

D. converged network switch 

Correct Answer: A  
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QUESTION 4

The storage administrator for a company that uses HP Data Protector is selecting the objects to be backed up from a
disk volume. While doing so, the storage administrator changes the client names and mount points for some of the
objects. What effect does this have on the backup? 

A. Because the backup objects is considered news, Data Protector will perform a full backup instead of incremental. 

B. Because the object information changed, the backup files cannot be browsed through the Data Protector user
interface. 

C. The client names and mount points must be re-read back into the Data Protector cell before the backup process can
proceed. 

D. The client names and mount points must be placed in an export directory as a .csv file before the backup process
can proceed. 

Correct Answer: B 

 

 

QUESTION 5

A customer uses an HP Enterprise solution with Microsoft Windows Server hosts. The hosts unexpectedly lose
connection to the tape devices. What should the customer enable on the hosts to ensure reliability? 

A. plug and play devices 

B. tape discovery 

C. persistent bindings 

D. Microsoft signed drivers 

Correct Answer: C 
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